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Report on COD-IT

Title : COD-IT

Date : 4th July, 2020.
Time : 3 PM to 5 PM
Venue : hackerank.com

Hackerank website - https://www.hackerrank.com/contests/cod-it/challenges
Participants :

Whatsapp group - 293 participants + organizing team + faculty, Registered- 293,
Total attended - 171, No. of DBIT students - 46

Organizing Department / Committee / Authority : ACM Student Chapter

Faculty Co-ordinator: Ms. Sana Shaikh

Objective :

= To let the participants improve their programming skills

- To let the participants test their programming skills in competitive environment.
Outcomes :

» The audience will become familiar with the actual competitive world of coding

» The audience will understand the different challenges present in the field
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Report :

The coding competition called COD-IT was conducted by ACM as a opportunity for the
brilliant minds to brush up their coding skills in this sluggish time of Quarantine COVID -19.

The competition was organized by ACM DBIT under the leadership of Grejo Joby - Vice
Chairperson ACM DBIT and Hayden Cordeiro - Technical Head ACM DBIT.

Hackerank was chosen as the platform as it is coped up with all the technicalities to host a coding
competition. A super response of 293 participants of which 171 students participated.

First there was questions made by Hayden and Grejo which was put into the competition and all
the participants had two hours to submit the answers. The scores were calculated according to
hackerank according to the time the person takes and the answer he/she submitted.

Posters :

ACM DBIT PRESENTS

=N

CLOD-IT

BE READY TO TAKE YOUR
CODING SKILLS TO NEXT LEVEL !

H

COMPETITION WILL CERTIFICATION
BE HELD ONLINE WILL BE PROVIDED TO
ON HackerRank! ALL PARTICIPANTS!

4THJULY 2020, 3IPMTOS PM

GREJO JOBY 76780 60548
HAYDEN CORDEIRO 70399 64659




Hackerank Pictures :
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Success Rate: 61.34% Max Score: 20 Difficulty: Easy

Solve Challenge

Grejo Builders

Success Rate: 19.79% Max Score: 20 Difficulty: Easy

Solve Challenge

Game of Pandas and Koalas

Success Rate: 26.03% Max Score: 30 Difficulty: Medium

Solve Challenge

Bob, The Ethical Theif

Success Rate: 4.62% Max Score: 30 Difficulty: Medium

Solve Challenge

Programmers La Paradise

Success Rate: 7.14% Max Score: 50 Difficulty: Hard

Solve Challenge

Rank User Score Time Country
1 abhishekthakur23 140.40 4:34:42
1 dms24081999 140.40 6:21:09
3 ashishgusain2017 Compare 122.80 5:01:41 ﬁ
4 arjun_chavan999 100.80 6:03:18 ﬁ
4 PuiPuiTuiPui 100.00 3:06:33 E
5 voidpp25 100.00 4:18:48 E
74 tejas_kale 99.60 3:47:14 ﬁ
8 sanketdeshmukh82 98.40 4:49:38 E
e} randiverutuja 96.80 4:48:09 ﬁ
10 shadowByte1 95.20 2:14:55 T
Unique Shop @ Current Leaderboard

Ll Compare Progress
{= Review Submissions
Admin Options
Manage Contest

View All Submissions

‘ Message Center




Manage Contests » Cod-it

Cod-it

www.hackerrank.com/cod-it

Details Challenges Advanced Settings Moderators Notifications
Signup Count: 219
Total Cumulative Signups: 223 (includes signups after the end of the contest)
Login Count: 171
Login Conversion Rate: 78.08 %

Number of Users Who Submitted Code: 126

View all contest submissions

Unique Shop

Problem Submissions Leaderboard Discussions

You are provided with an array of the costs of items in a shop, where costs[n] is the cost of the
n™ item in the shop. The discount system in the shop is unique. If you purchase the n™ item, then
you will get a discount equivalentto costs[m] where m is the minimum index such that m>n and
costs[m] <= costs[n], else, you will not receive any discount.

The array containing the costs of the items in the shop is to be returned, where the nth element is
the final cost that is to be paid for the n™ item of the shop considering the special discount.

Input Format

First Line : Integer p - Number of items in the shop
Second Line: p integers with space

Constraints

¢ 1 <= costs.length <= 500

e 1 <=costs[n] <= 103

Output Format

Single line output displaying the discounted values with space.

Sample Input 0

Signups Statistics

Submissions: 119
Max Score: 20
Difficulty: Easy

Rate This Challenge:

More



Sample Input 0

8 462 3

Sample Output 0

42423

Explanation 0

e For item O with costs[0]=8 you will receive a discount equivalent to costs[1]=4, therefore, the final
price you will payis 8-4 =4,

s For item 1 with costs[1]=4 you will receive a discount equivalent to costs[3]=2, therefore, the final
price you will payis4-2=2.

« For item 2 with costs[2]=6 you will receive a discount equivalent to costs[3]=2, therefore, the final
price you will payis6-2=4.

« For items 3 and 4 you will not receive any discount at all.

Sample Input 1

2. 3% 5

Sample Output 1

i S B



Winners :

ACM DBIT 2020 ¢

COI\IGRA'I'UI.ATIOI\IS

COD - IT WINNERS

st
I ABHISHEK THAKUR & DOMINIC SILVEIRA

nd
2 ASHISH GUSSAIN

rd

3 ARJUN CHAVAN

4 ARCHIT BHONSLE & PRITHVIRAJ PATIL  *®

th

5 TEJAS KALE
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Feedback analysis of the event :

45
4
35
Vales
* ® Rate the experience of participation in
contest
2.5
B Rate how challenging the problem
5 statements were
m Satisfaction with the organization and
execution of event
15
1
05
0
Report prepared by : Report approved by:
Joel Shaji Parakal Ms. Sana Shaikh
(ACM Administration Head) (HOD Computer

Department)
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